Rodote GA Ay N, He Y A =
3 FRIGEREREER (S 2F11AHE)
OREEINE
AR /N = % o o %
sese g HAE(E B K FIFR B R3] HAE(E B K FIFR B NIAS)
TRxLE—  (kcal) 650 649 650 650 830 815 811 813
7=E<E (%)
(BT L% — 2R 5 72 AE < 13~20 16.3 16.5 16. 4 13~20 16.2 16.2 16.2
BDOTRNNF—DHR)
g & (%)
(BH= 3L X — 2RI KT B IS D= 20~30 28. 1 27.8 28.0 20~30 27.2 27.2 27.2
L — D HER)
BMAYE (g) 2K 2.3 2.4 2.4 2.5 i 2.8 3.0 2.9
B A (mg) 350 347 353 350 450 398 393 396
g (mg) 3 2.6 2.5 2.6 4 3.4 3.5 3.5
A (u gRBE) 200 447 452 450 300 601 444 523
bas Bi (mg) 0.4 0. 50 0. 54 0.52 05 0.63 0.71 0.67
h B2 (mg) 0.4 0. 60 0.59 0. 60 0.6 0.69 0.65 0.67
C (mg) 20 30 29 30 30 38 36 37
B (g) 5Lk 4.8 4.7 4.8 6.5 F 6.0 5.7 5.9
<7 XA (ng) 50 100 96 98 120 122 121 122
i & (mg) 2 3.1 3.1 3.1 3 4.1 3.8 4.0
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